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SECTION A – (10 × 2 = 20 marks)
(Q.No. 1-12)Answer  any TEN questions

1. Define statistics.
2. Mention any two characteristics of statistics.
3. Find the Class interval when the largest item is 80 , the smallest item is 70 and the number of classes is 7.
4. Present the following information in a suitable tabular form, supplying the figures not directly given. In 2006, out of 2000 workers in a factory, 1,550 were members of a trade union. The number of women workers employed was 250, out of which 200 did not belong to any trade union. In 2007, the number of union workers was 1,725 of which 1,600 were men. The number of non-union workers was 380, among whom 135 were women.
5. The average mark secured by 36 students was 52. But it was discovered that an item 64 was misread as 46. Find the correct mean of marks.
6. Find the Mode from the following: 850,750,600,825,850,725,600,850,640,530.
7. Find the Harmonic mean, when N = 10 and
8. Calculate the standard deviation when the mean square is 140 and N = 8.
9. Find the range of weights of 7 students from the following     27, 30, 35,   36,  38, 40, 43.
10. Define Skewness.
11. Find the Skewness, when mean is 46.83, mode is 51.67 and standard         deviation is 14.8.
12. Find the Coefficient of skewness, when Q3 is 25, Q1 is 18 and Median is 19.

SECTION B – (5 × 5 = 25 marks)
(Q.No. 13-19)Answer any FIVE questions

13. Discuss the functions of statistics.
14. Make a frequency distribution from the following data by inclusive method  
        taking 4 as the magnitude of class intervals.
	10
	17
	15
	11
	16
	19
	24
	29
	18
	22

	25
	26
	32
	14
	17
	20
	23
	27
	30
	12

	15
	18
	24
	36
	18
	15
	21
	28
	33
	38

	34
	13
	10
	16
	20
	22
	29
	19
	23
	31







 (
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)
15. There are two branches of a company, employing 100 and 80 persons   
          respectively. If the arithmetic means of the monthly salaries paid by the two 
          companies are `275 and ` 225 respectively, find the arithmetic mean of the 
         salaries of the employees of the companies as a whole.
16. Calculate mean from the following data:
	R. Nos.
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Marks 
	40
	50
	55
	78
	58
	60
	73
	35
	43
	48



17.   Calculate mean deviation from the following data:
	X
	2
	4
	6
	8
	10

	f
	1
	4
	6
	4
	1



18.  Calculate Karl Pearson's coefficient of skewness for the following data:
     				25  15  23  40  27  25  23  25  20
19.  Find the coefficient of skewness by Bowley's method, if difference between two  
          quartiles  = 8, sum of two quartiles = 22 and  median = 10.5 .

SECTION C – (2 × 15 = 30 marks)
(Q.No. 20-23)Answer any TWO questions
 
20.  Represent the following data by means of graph:
	Months
	Jan.
	Feb.
	March
	April
	May
	June
	July
	August
	September

	Index no.
	100
	106
	120
	134
	137
	139
	145
	142
	146



21.  From the following find out the mean profits:
	Profits per shop in `
	Number of shops

	100-200
	10

	200-300
	18

	300-400
	20

	400-500
	26

	500-600
	30

	600-700
	28

	700-800
	18


22. Calculate mean deviation from the following series:

	X
	10
	11
	12
	13
	14

	f
	3
	12
	18
	12
	3



23. The following results are obtained from a sample of 10 boxes of biscuits: mean    
          weight of contents = 490 gms. Standard deviation of the weight = 9 gms. Could 
          the sample come from a population having a mean of 500 gms.
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